Worksheet for the spreadsheet “Market equilibrium”

All of the questions below should be answered by changing the numbers in the four shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

Start by choosing values for the four shaded cells (two intercepts, two slopes).

What is the equilibrium quantity (cell A14)? ______________

What is the equilibrium price (cell A16)? ______________

By changing the intercept of supply (cell B8) and demand (cell B3) (one at a time) you can change the price and quantity.  What should you do to:

Raise the price and reduce quantity? 

_________________

Raise the price and raise the quantity? 
_________________

Reduce the price and reduce the quantity? 
_________________

Reduce the price and raise the quantity? 
_________________

Go back to the old intercepts. By changing the slope of supply (cell B10) and demand (cell B5) (one at a time) you can change the price and quantity.  What should you do to:

Raise the price and reduce quantity? 

_________________

Raise the price and raise the quantity? 
_________________

Reduce the price and reduce the quantity? 
_________________

Reduce the price and raise the quantity? 
_________________

Go back to the old slopes.  How large is consumer surplus (cell A19)? ____________

How large is producer surplus (cell A22)? _________________

Change one (or both) slopes until consumer surplus is the same size as producer surplus.  What can you say about the slopes? 

Change one (or both) slopes until consumer surplus is twice as large as producer surplus.  What can you say about the slopes? 

Now change the slopes until producer surplus is twice as large as consumer surplus.  What can you say about the slopes? 

Can you see a general pattern coming out of these results?

Increase the intercept of the demand curve (cell B3).  What happens to consumer surplus?  What happens to producer surplus?

Do they change by the same proportion?

Reduce the intercept of the demand curve.  What happens to consumer surplus?  

What happens to producer surplus?

Go back to the old value for the demand intercept.  Now change the intercept of the supply curve.  What happens to consumer and producer surplus?

Does the ratio of consumer surplus to producer surplus (CS÷PS) depend on the intercepts of supply and demand? 
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